EARAROBEEIERT — 2 N— IBISH —F

20155F3H28H () 23m{£E5H

Il zceme c2 y5R4mt

(xwlw | lmEmml - |5 5) wom 8

[A~&E£] 17 :200,000 W ~ 23&:46,000  ~ 33 :18,000 W ~ 43%&:10,000 W ~ 5 3 :6,000 M

B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
. . BRERE :29. ~4-4~ . — EAREE (£8)
AR PN H o4 = 1(2_9)4 4-4-4-2 | 38.0 2 (4_925) [=Eaory "
Z:oNd By N 45035
S S0y s HEBIEE :29. -3-3- . - HEXE (£8)
2 6 AL RXALT) > 4 4 B 1(219)6 3-3-3-1 |38.6 1 (4+810) ’é.“?kg— "
L:a—-T> 70> BANAY—FT 1 SRk e
— « ses . AEFA— : -8-8~ — ABFR (£H)
3l5|5|F>rornnne i 5 5t 1.(360>.7 9-8-8-8 | 38.1 6 <4+611) pat-dien "
LT YT BiICRLAHY ZRERNS
g 4 5 | RAEEC 1:30.7 1-1-1-3 | 40.0 | — 8 408 | HEHE (1£5H)
4 4| FrvE— 54.0 7E) (3) | TeA
RV RYZYZRIZ B:AH2N) v Fxap e
S = w7 | IS 1:30.8 7-7-7-5 | 38.5| — 7 465 | WHS (EH)
5177 |/ =477 56.0 (2 E) (-q) |1
LA TT BRIAIETY 3 Ralitie]
KIEHFER =31 ~5-5- . - HETE (£8)
6lglg| ¥V /7—H— o6 =i 1(341)6 5-5-5-7 | 39.9 7 (4_(:; Aprn
RixIAMA— BN TRYZT o — AR HER
N AEE—E : ~6-6- - BART (E8)
7 o | YHIEYT—F i 4 o 1.(311>.8 6-6-6-6 | 39.8 5 ;1_2752 Jﬁﬁ%g "
LARTAMIZIN BTV —F RENS
. N HHPEA : —9=0— = ABHR (1EE)
8 | Frs—42 4 5 54_01— 1.(312).0 2-2-2-4 | 41.2 4 (4_616) 2o
LY IR G147 B:FzIo—H—-I H EE
HHIEE 132, —-9-9— . — Z/EEN (EE)
9l8lo 419 Zv—k 4 s 1(342)8 8-9-9-9 | 40.1 9 ;1_534) m'EJ\E: i
L—ATO— B:INIvAR—L 2155
® 1 — @B
|S=7r= 4,3,6,1,8,2,7,9,5
Ao=5"= 4,3,6,1,8,2,7,5,9
T =35r= 4,3,6,1,8,2,7,5,9
43—+ — 6,1,4,3,7,2,8,5,9
[ RN
-y 1 3B50M | | 71 K 1-6 120 | | # = 1-6 140 | | =8 1-5-6 370M
# B 1 1004 1-5 380F B E 1-6 140M EE 1-6-5 1,820M
6 1004 5-6 240M BB 1-6 460M
5 210M

ABICOVWTRDTEEERROODE. TR LIV,




